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ÍÛæ̃ Û¶ÛÛ : (1) ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
  (2) ¸Ûó. ÍÛ×. 1 ¬Ûà 4¶ÛÛ •Ûä¨Û …, ¼Û, ïõ¶ÛÛ ’õ¾ÛÉÛ: 4, 7, 3 ™öé. 
 

1. (…) nCr …¶Ûé nPr ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà ©Ûé¶ÛÛ× ÍÛæªÛÛé ÅÛ”ÛÛé. 4 
 (¼Û) ÍÛ¾ÛàïõÁõ¨Û ŠïéõÅÛÛé : 24C2r + 1 =  24C3r – 2 7 
 (ïõ) Ýïõ¾Û©ÛÛé ÉÛÛéµÛÛé : 8C3, 5P2, 100C98 3 
    …¬ÛÈÛÛ 
 (…) ÜÈÛµÛéýÛ¶ÛÛ ¸ÛóïõÛÁõ ÍÛ¾Û›ÛÈÛÛé.  
 (¼Û) ÅÛ“Û ¾ÛéÇÈÛÛé.   

  (1) lim
x → 2

  x
2 – 5x + 6

x2 – 4   

  (2) lim
x → ∞

  3x2 + 4x + 6
2x2 – 5x + 3  

 (ïõ) ›Ûé f(x) = x3 + x2 + x + 1 ÐüÛéýÛ ©ÛÛé f(0), f(–1), f(1) ¾ÛéÇÈÛÛé.  
 
2. (…) ÍÛ¾Û›ÛÈÛÛé.  4 
  (1) ¸ÛÁõÍ¸ÛÁõ Ü¶ÛÈÛÛÁõïõ –Û¤ø¶ÛÛ…Ûé 
  (2) ýÛÛé•Û –Û¤ø¶ÛÛ 
 (¼Û) ¼Ûé ¸ÛÛÍÛÛ Š™öÛÇÈÛÛ¶ÛÛ ¸ÛóýÛÛé•Û¾ÛÛ× ¼Û×¶Ûé ¸ÛÁõ ¾ÛÇ©ÛÛ …×ïõÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ¬ÛÛýÛ ©Ûé¶Ûà 

ÍÛ×½ÛÛÈÛ¶ÛÛ ÉÛÛéµÛÛé. 7 
  (1) 7 
  (2) 3 …¬ÛÈÛÛ 4 
 (ïõ) ›Ûé P(A) = 0.4, P(B) = 0.5, P(A∩B) = 0.2, ©ÛÛé P(A∪B) ÉÛÛéµÛÛé. 3 

…¬ÛÈÛÛ 
 (…) ÍÛ×½ÛÛÈÛ¶ÛÛ¶ÛÛ ˜ÛÛÁõ Ü¶ÛýÛ¾ÛÛé ÅÛ”ÛÛé.  
 (¼Û) ªÛ¨Û ÜÍÛ‘õÛ Š™öÛÇÈÛÛ¶ÛÛ ¸ÛóýÛÛé•Û¶ÛÛé Ü¶ÛþùÉÛÛÙÈÛïõÛÉÛ ÅÛ”ÛÛé. ªÛ¨Ûé ¸ÛÁõ ™öÛ¸Û ¾ÛÇé ©Ûé¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ 

ÉÛÛéµÛÛé.  

 (ïõ) P(A) = 
1
3, P(B) = 

1
4, P(A∩B) = 

1
12, ©ÛÛé P⎝⎜

⎛
⎠⎟
⎞A

B   ÉÛÛéµÛÛé.  
 

3. (…) …¸Ûé“ÛÛ¶ÛÛ ¼Ûé Ü¶ÛýÛ¾ÛÛé ÅÛ”ÛÛé. 4 
 (¼Û) E(x) …¶Ûé V(x) •Û¨ÛÛé. 7 

x 0 1 2 3 
P(x) 0.1 0.4 0.4 0.1 
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 (ïõ) ¼Ûé ¸ÛÛÍÛÛ …éïõ ÍÛÛ¬Ûé Š™öÛÇÈÛÛ¶ÛÛ ¸ÛóýÛÛé•Û¾ÛÛ× ¾ÛÇ©ÛÛ ¶Û×¼ÛÁõÛé¶ÛÛ ÍÛÁõÈÛÛÇÛ¶Ûä× …¸ÛéÜ“Û©Û ¾ÛæÅýÛ ÉÛÛéµÛÛé. 3 
…¬ÛÈÛÛ 

 (…) …¸Ûé“ÛÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé.  
 (¼Û) ›Ûé E(x2) = 25, E(x) = 3 ÐüÛéýÛ ©ÛÛé E(3x + 2) …¶Ûé V(3x + 2) ÉÛÛéµÛÛé.  
 (ïõ) E(x) •Û¨ÛÛé :   

x 0 1 2 3 4 
P(x) 0.1 0.2 K 0.2 0.1 

 

4. (…) ›ä÷þùà ›ä÷þùà ¸Ûó–ÛÛ©ÛÛé ÍÛ¾Û›ÛÈÛÛé. 4 
 (¼Û) β1 …¶Ûé β2 ÉÛÛéµÛÛé : 7 

x 0 1 2 3 4 
f 1 2 4 2 1 

 (ïõ) ›Ûé μ '
1 = 2, μ '

2 = 4, μ '
3 = 7 ©ÛÛé μ3 ÉÛÛéµÛÛé. 3 

    …¬ÛÈÛÛ 
 (…) ÍÛÛþùà …¶Ûé ïéõ¶®ùàýÛ ¸Ûó–ÛÛ©ÛÛé ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛÛé ÅÛ”ÛÛé.  
 (¼Û) 1, 2, 3, 4 …¶Ûé 5 …ÈÛÅÛÛéïõ¶ÛÛé ¾ÛÛ¤éø β1 …¶Ûé β2 ÉÛÛéµÛÛé.  

 (ïõ) μ '
1 = 1 …¶Ûé μ '

2 = 3 ©ÛÛé ÜÈÛ˜ÛÁõ¨Û ÉÛÛéµÛÛé.  
 

5. ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : (þùÁéõïõ¶ÛÛé …éïõ •Ûä̈ Û) 14  
 (1) 6! ¶Ûä× ¾ÛæÅýÛ _________ ¬ÛÛýÛ. (120, 24, 6) 
 (2) 5P2 = _________ ¬ÛÛýÛ. (10, 7, 20) 

 (3) lim
x → 2

 x
2 – 4

x – 2   = _________ ¬ÛÛýÛ. (4, 6, 0) 

 (4) f(x) = 
x2 + 1
x + 1   ©ÛÛé f(0) = _________. (0, 1, 2) 

 (5) P(A) = 0.5, P(A∩B) = 0.2 ©ÛÛé P⎝⎜
⎛

⎠⎟
⎞B

A   = _________. (0.3, 0.4, 0.5) 

 (6) P(A) = 0.5, P(B) = 0.6, P(A∩B) = 0.4 ©ÛÛé P(A∪B) = _________. (0.5, 0.6, 0.7) 

 (7) ªÛ¨Û ÜÍÛ‘õÛ Š™öÛÇ©ÛÛ× P(TTT) = _________. (
3
8, 

2
8, 

1
8) 

 (8) ›Ûé nP2 = 12 ÐüÛéýÛ ©ÛÛé n = _________. (2, 12, 4) 

 (9) ›Ûé nC2 = 21 ÐüÛéýÛ ©ÛÛé n = _________. (2, 21, 7) 

 (10) ›Ûé P(A) = 0.8 ÐüÛéýÛ ©ÛÛé P(A') = _________.  (0.8, 0.2, 0.6) 
 (11) μ2 = 2, μ3 = 4 ÐüÛéýÛ, ©ÛÛé β1 = _________. (2, 4, 8) 

 (12) μ '
1 = 2, μ '

2= 11 ÐüÛéýÛ, ©ÛÛé μ2 = _________. (9, 13, 7) 

 (13) ›Ûé E(x2) = 8 …¶Ûé E(x) = 2 ÐüÛéýÛ, ©ÛÛé ¸Ûó.ÜÈÛ. _________. (2, 4, 8) 
 (14) 1000C998 ¶Ûä× ¾ÛæÅýÛ _________ ¬ÛÛýÛ. (499500, 409095, 994500) 

________ 
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Instructions :  (1) All questions carry equal marks 
    (2) Q.-1 to Q.-4 marks alloted 4, 7, 3 respectively for (a), (b), (c). 
 
1. (a) Explain meaning of nCr and  nPr . Write formulas. 4 
 (b) Solve equation : 24C2r + 1 =  24C3r – 2 7 
 (c) Find values : 8C3, 5P2, 100C98 3 
    OR 
 (a) Explain types of functions. 
 (b) Find limit :  

  (1) lim
x → 2

  x
2 – 5x + 6

x2 – 4   

  (2) lim
x → ∞

  3x2 + 4x + 6
2x2 – 5x + 3  

 (c) If f(x) = x3 + x2 + x + 1, find f(0), f(–1), f(1). 
 
2. (a) Explain :   4 
  (1) Mutually exclusive events  
  (2) Union event 
 (b) Two dice are thrown. Find the probability of sum of numbers as follows :  7 
  (1) 7 
  (2) 3 or 4 
 (c) If P(A) = 0.4, P(B) = 0.5, P(A∩B) = 0.2, find P(A∪B). 3 

OR 
 (a) Write four rules of probability. 
 (b) Write sample space when three coins are tossed. Find probability of getting three 

heads. 

 (c) P(A) = 
1
3, P(B) = 

1
4, P(A∩B) = 

1
12, find P⎝⎜

⎛
⎠⎟
⎞A

B  .  

 
3. (a) Write two rules of expectation. 4 
 (b) Find E(x) and V(x). 7 

x 0 1 2 3 
P(x) 0.1 0.4 0.4 0.1 

 (c) Find expected value of sum of two numbers when two dice are thrown. 3 
OR 
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 (a) Write defination of expectection. 
 (b) If E(x2) = 25, E(x) = 3, find E(3x + 2) and V(3x + 2). 
 (c) Find E(x) :   

x 0 1 2 3 4 
P(x) 0.1 0.2 K 0.2 0.1 

 
4. (a) Explain different moments. 4 
 (b) Find β1 and β2. 7 

x 0 1 2 3 4 
f 1 2 4 2 1 

 (c) If μ '
1 = 2, μ '

2 = 4, μ '
3 = 7, find μ3. 3 

    OR 
 (a) Write relation between raw and central moments. 
 (b) Find β1 and β2 for observations 1, 2, 3, 4 and 5.  

 (c) μ '
1 = 1, μ '

2 = 3, find variance. 

 
5. Fill in the blanks (one mark each) 14 
 (1) Value of 6! is _________. (120, 24, 6) 
 (2) Value of 5P2 is _________. (10, 7, 20) 

 (3) lim
x → 2

 x
2 – 4

x – 2   = _________. (4, 6, 0) 

 (4) f(x) = 
x2 + 1
x + 1  , then f(0) = _________. (0, 1, 2) 

 (5) P(A) = 0.5, P(A∩B) = 0.2, then P⎝⎜
⎛

⎠⎟
⎞B

A   = _________. (0.3, 0.4, 0.5) 

 (6) P(A) = 0.5, P(B) = 0.6, P(A∩B) = 0.4, then P(A∪B) = _________ (0.5, 0.6, 0.7) 

 (7) Three coins are tossed, then P(TTT) = _________. (
3
8, 

2
8, 

1
8) 

 (8) If nP2 = 12, then n = _________. (2, 12, 4) 

 (9) If nC2 = 21, then n = _________. (2, 21, 7) 

 (10) If P(A) = 0.8, then P(A') = _________.  (0.8, 0.2, 0.6) 
 (11) If μ2 = 2, μ3 = 4 then β1 = _________. (2, 4, 8) 

 (12) If μ '
1 = 2, μ '

2 = 11, then μ2 = _________. (9, 13, 7) 

 (13) If E(x2) = 8, E(x) = 2, then S.D. = _________. (2, 4, 8) 

 (14) Value of 1000C998 =  _________ (499500, 409095, 994500) 

________ 


	XS-113 
	B.A. (Sem.-II) 
	April-2013 
	XS-113 
	B.A. (Sem.-II) 
	April-2013 


